
Electric Cultivator UT46510 - General Assembly



Ref # Part # Description Qty Context Note 
1 33202282G Lower Handle 1

2 3220107G Screw (M4.2 x 14 mm) 6

3 34103282G Cable Retainer Ring 2

4 3220436G Handle Bolt 2

5 3410835G Handle Knob 2

6 33207282G Switch plate 1

7 34102282G Upper Cable Retainer Ring 1

8 31115282G Upper Handle Assembly 1

9 3411135G Cord Retainer Ring 1

10 38105282G Icon Warning Label 1

11 38102282G Hang Tag 1

12 31105282G Front Handle Assembly 1

13 31112822G Switch Trigger Assembly 1

14 31113282G Switch Lock-out Assembly 1

15 31101282G Switch Cable Assembly 1

16 3230136G Retaining Ring 2

17 33903282G Compression Spring 1

18 36301282G Switch 1

19 31104282G Switch Actuator 1

20 31107282G Switch Box Assembly 1

21 31101281G Gear Box Assembly 1

22 32201282G Bolt (M6 x 35 mm Hex Hd.) 4

23 3420102G Bend Relief 1

24 3290699G Washer (M6) 4

25 32205271G Bolt (M6 x 25 mm, Hex Hd.) 4

26 31117282G Tine Shield Assembly 1

27 38103282G Foot Warning Label 1

28 34111282G Adjustment Knob 1

29 34105282G Motor Base 1

30 3220343G Lock Nut (M6) 8

31 3411435G Wire Clip 1

32 33206282G Flex Shaft 1

33 36901281G Circuit Breaker 1

34 31118282G Lower Motor Cover 1

35 32212100G Screw (M4 x12 mm) 1

36 33203282G Switch Cable Clip 1

37 38106282G Data Label 1

38 36401281G Power Cord 1

39 38104282G Warning Label 1

40 31116282G Upper Motor Cover 1

41 38107282G Logo Label (right) 1

42 38101282G Logo Label (left) 1

43 3220210G Screw (M4.2 x 18 mm) 7

44 36111281G Brush Assembly 2

45 31114282G Motor Assembly 1



Ref # Part # Description

46 33209281G Flex Shaft Adaptor

Qty Context Note 
1 

47 3320543G Hitch Pin 2

48 31105281G Tine Assembly (D) 1

49 34901282G Washer (Felt) 2

50 31104281G Tine Assembly (C) 1

51 31103281G Tine Assembly (B) 1

52 31102281G Tine Assembly (A) 1

53 3290237G Hitch Pin 2

54 3220898G Washer 2

55 31102282G Wheel Assembly (6 in.) 2

56 31103282G Axle/Drag Stake Assembly 1

987000517 Operator's Manual 1 Not Shown 



Electric Cultivator UT46510 - Wiring Diagram




